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i & E |WE| EE [F&)] 4.0m g | g | k| FuR| | sl IEI N etk VAR APPSR AN EE 2PN
E5 ® @) @ |#F|©@/4.0 @ ® ® | @ [Ox@|Ox@* = @= = | OH@*0.1+ | OHOX@-0.1 | s+ &
=D-©@| ¢ 150] ¢ 150 (®-®)|(®-®) 0.55 | 0.85 | 0.55 PE)-Heprimfs] -s4%-0.1-@) | M £/0.9
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12=0.35
8088 | 8088-1[8089-1| 7.00[ 7.00[ 0.90] 6.10 2| 1.53 0.85| 0.85] 0.85| 1.69| 1.71| 1.70] #iiEiAs| 0.05] 0.30]  9.82 6.10 1.43 2.08 7.51
8085-2 [+39.0m| 8089-1| 12.50| 12.50| 0.45| 12.05 1| 3.01 0.85| 0.85| 0.85| 1.67| 1.71] 1.69] #iiEias| 0.05] 0.30] 17.43 12.05 2.55 10.89 5.33
H2=0.91
8089 | 8089-1]8089-2| 56.00[ 56.00[ 0.60] 55.40 1| 13.85 0.85| 0.85| 0.85| 2.26] 2.25| 2.26| #iiEiAs| 0.05] 0.30] 105.20 55.40 11.42 43.32 57.07
H2=1.14
] 8089-3]8094-1| 44.00| 44.00| 0.60| 43.40 1] 10.85 0.85| 0.85| 0.85| 2.47| 2.50| 2.49| #iiEiAs| 0.05] 0.30] 91.26 43.40 8.97 42.64 43.88
H2=1.28
8094 |8094-1[8094-2| 47.00[ 47.00] 0.60] 46.40 1] 11.60 0.85| 0.85] 0.85| 2.60| 2.66| 2.63| #iiEiAs| 0.05] 0.30] 103.07 46.40 9.58 51.14 46.25
H2=1.35
] 8094-2]8097-1| 48.00| 48.00| 0.60| 47.40 1] 11.85 0.85| 0.85] 0.85| 2.66| 2.73| 2.70| #iiEiAs| 0.05] 0.30] 108.12 47.40 9.78 55.08 46.92
8093 | +4.0m [ 8093-8| 13.00/ 13.00] 0.15| 12.85 3.21 0.85| 0.85] 0.85| 1.69| 1.83| 1.76| Akt 19.45 12.85 2.65 15.41 2.33
] 8093-8]8094-1| 2.50] 2.50| 0.60| 1.90 1| 0.8 0.85| 0.85| 0.85| 1.83| 1.85| 1.84] #iiEias| 0.05] 0.30]  3.80 1.90 0.51 2.50 1.02
8090 |+15.0m[8090-5| 2.00f 2.00 0.45] 1.55 1] 0.39 0.85| 0.85| 0.85| 1.52| 1.40| 1.46|fii#iCo| 0.10] 0.20]  2.31 1.55 0.41 1.52 0.62
] 8090-5]8090-6] 15.00] 15.00| 0.60| 14.40 1| 3.60 0.85| 0.85| 0.85| 1.42| 1.40| 1.41]fii#Co| 0.10] 0.20] 16.70 14.40 3.06 10.77 4.73
] 8090-6| +1.3m 1.30] 1.30] 0.15] 1.15 0.29 0.85| 0.85| 0.85| 2.06| 2.09] 2.08| ifii&iCo| 0.10] 0.20] 2.19 1.15 0.27 1.67 0.33
] +1.3m [ 8092-1| 3.20] 3.20] 0.45] 2.75 1| 0.69 0.85| 0.85| 0.85| 2.06| 2.09] 2.08| #iiEiAs| 0.05] 0.30]  5.52 2.75 0.65 3.85 1.24
8092 |8092-1[8092-2| 27.50[ 27.50] 0.60] 26.90 1 6.73 0.85| 0.85| 0.85| 2.11] 2.30] 2.21| #iiEAs| 0.05] 0.30] 50.49 26.90 5.61 36.11 10.37
] 8092-2]8092-3| 46.00| 46.00| 0.60| 45.40 1] 11.35 0.85| 0.85] 0.85| 2.30| 2.53| 2.42| #iiEiAs| 0.05] 0.30] 92.67 45.40 9.38 68.62 16.43
] 8092-3|8094-1| 6.50]  6.50] 0.90| 5.60 2| 1.40 0.85| 0.85| 0.85| 2.55| 2.58] 2.57| #iiEiAs| 0.05] 0.30] 13.92 5.60 1.33 10.53 2.22
H2=1.44
8097 |8097-1]8097-2| 26.80[ 26.80] 0.60] 26.20 1| 6.55 0.85| 0.85| 0.85| 2.75| 2.82| 2.79| #iiEiAs| 0.05] 0.30] 62.42 26.20 5.46 32.80 25.98
H2=1.50
] 8097-2]8097-3] 56.00| 56.00| 0.60| 55.40 1| 13.85 0.85| 0.85| 0.85| 2.82| 2.87| 2.85| #iiEiAs| 0.05] 0.30] 133.28 55.40 11.42 71.40 53.95
H2=1.63
] 8097-3|s110-1-1] 61.00] 60.25| 1.05| 59.95 2| 14.99 0.85| 0.85] 0.85| 2.89] 3.07| 2.98| #iiEiAs| 0.05] 0.30] 150.05 59.95 12.28 83.48 57.29
8110-2 [s110-2-1] 604-1 5.50]  4.75] 1.20] 4.30 2| 1.08 0.80] 0.55| 0.68| 1.23| 1.26] 1.25] #iiEiAs| 0.05] 0.30]  3.88 4.30 0.75 1.89 1.78
&t 480.80 11.70{469.10] 21 | 117.30 991.58 4.30| 464.80 97.51 545.70 385.25
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8088 8088-1 8089-1 7.00 7.00 0.85 1.70 7.00 7.00
8085-2 +39.0m 8089-1 12.50 12.50 0.85 1.69 12.50 12.50

8089 8089-1 8089-2 56.00]  56.00 0.85 2.26 56.00 56.00

I 8089-3 8094-1 44.00  44.00 0.85 2.49 44.00 44.00
8094 8094-1 8094-2 47.00]  47.00 0.85 2.63 47.00 47.00

I 8094-2 8097-1 48.00]  48.00 0.85 2.70 48.00 48.00
8093 +4.0m 8093-8 13.00 13.00 0.85 1.76 13.00 13.00

I 8093-8 8094-1 2.50 2.50 0.85 1.84 2.50 2.50

8090 +15.0m 8090-5 2.00 2.00 0.85 1.46 2.00 2.00

I 8090-5 8090-6 15.00 15.00 0.85 1.41 15.00 15.00

I 8090-6 +1.3m 1.30 1.30 0.85 2.08 1.30 1.30

I +1.3m 8092-1 3.20 3.20 0.85 2.08 3.20 3.20
8092 8092-1 8092-2 27.50|  27.50 0.85 2.21 27.50 27.50

I 8092-2 8092-3 46.00]  46.00 0.85 2.42 46.00 46.00

I 8092-3 8094-1 6.50 6.50 0.85 2.57 6.50 6.50
8097 8097-1 8097-2 26.80]  26.80 0.85 2.79 26.80 26.80

I 8097-2 8097-3 56.00]  56.00 0.85 2.85 56.00 56.00

I 8097-3 | 8110-1-1 61.00]  60.25 0.85 2.98 60.25 60.25
8110-2 | 8110-2-1 604-1 5.50 4.75 0.80 1.25 4.75
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8088 8088-1 8089-1 7.00 7.00 0.85 1.70 7.00
8085-2 +39.0m 8089-1 12.50]  12.50 0.85 1.69 12.50
8089 8089-1 8089-2 56.00]  56.00 0.85 2.26 56.00
i 8089-3 8094-1 44.00]  44.00 0.85 2.49 44.00
8094 8094-1 8094-2 47.00]  47.00 0.85 2.63 47.00 47.00
i 8094-2 8097-1 48.00]  48.00 0.85 2.70 48.00 48.00
8093 +4.0m 8093-8 13.00]  13.00 0.85 1.76 13.00
i 8093-8 8094-1 2.50 2.50 0.85 1.84 2.50
8090 +15.0m 8090-5 2.00 2.00 0.85 1.46 2.00 2.00
i 8090-5 8090-6 15.00]  15.00 0.85 1.41 15.00 15.00
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i 8092-3 8094-1 6.50 6.50 0.85 2.57 6.50 6.50
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i 8097-2 8097-3 56.00]  56.00 0.85 2.85 56.00 56.00
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(m) Gm/AEK) | Gm/AKR) i (EFT) (&) (&) (&) (&) (CED (&) (&) (&)
8110-1-1
+1.4m IP.1 285.400 56 57 1 1 EEIX(1~3/5)
BHE EHLUER

IP.1 IP.2 7.446 5 4 3 EEIX(3/5)

IP.2 8086-1-1 185.200 36 38 1 EE|X(3~4/5)
8086-1-1 IP.3 3.500 2 2 EEIX(4/5)

IP.3 IP.5 70.000 13 15 EEIX(5/5)

IP5 IP.6 19.000 3 5 2 EEIX(5/5)

IP.6 IP.7 4.800 2 EEIX(5/5)

IP.7 IP.8 2.500 2 2 EEIX(5/5)

IP.8 8110-2-1| 28.750 5 6 1 EEIX(5/5)
ERKY 7 1

45| 606.596m 1204 1A% 1328Fh 2{& 101@ 5{&
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TKRERRIIFLUE
&S Fodk~t % By | ZYE  ZYIE  ZYE  ZYE | ZYE  ZY%  ZY% | ZY% | ZYE me | v & *&
(m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (m) (0)
EFFREE
@ PE@®75%5.0m 2.570 2.430 5.000 1 [EFIE(3)5)
@ PE®75%50m 4.680 0.180 4.860 0.140 2 [EEIX(3)(4)
® PE®75%50m 2.980 2.980 2.020 1 |EZIX(4)
@ PE@®75%50m 4550 0.166 4716 0.284 2 [EEIR(3)(5)
® PE®75%50m 3.620 1.060 4.680 0.320 2 [EEIX(5)
® PE®75%50m 4350 4.350 0.650 1 |EZIX(5)
® PE®75%5.0m 1.980 2.570 4.550 0.450 2 [EEIR(3)(5)
EFEE
@ PE@®75%50m 4500 4.500 0.500 1 |EZIX(3)
H 7 35.636 4.364 12




frsgar ) —h BEHESE

% 2 Al g A BAfsr = g &
avg)—k 0 ck=18N/mm? m° 0.19
IP.1 (0.290 X 0.290— 71 /4 X 0.09%) X 1.20 =0.09 EXEEEEIRE/5)
IP.2 (0.290 X 0.290— 71 /4 X 0.09%) X 1.30 =0.10 EXEEEEIRE/5)
TR m’ 1.45
P 0.29x2%1.20 =0.70 EEEEEIRE/5)
IP.2 0.29 X2 % 1.30 =0.75 EEEEEIRE/5)
EMra BAI799%—7Y t=10cm m° 0.12
P 0.490 X 0.10 X 1.20 = 0.06 EEEEEIRE/5)
IP.2 0.490 X 0.10 X 1.30 = 0.06 EXEEEEIRE/5)
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i & i | [ AAL] B (-] PR W ow| o= | 4 10cm i WM+ (i)
& & R | BE| LR | TES] 5.0m W | g | bl | R CEE | Rl B | Bk | A R AN | s 1 A | i | A | Bk | A
2 O | @] ® |[#FO/HmO @ ® ©® | @ | Q@ | Ox@= = | @= = | OH@*0.1+ | OHOX®-0.1 | il + &
=D-@| 675| ¢75 (@-O)|(®-®) 0.55 | 0.85 | 0.325 PME)-HERRimFE] -s4%-0.1-D) | M 1£/0.9
3 i m m m m J[E K m m m m m m m3 m3 m m m m3 m3 m3 m3 m3 m3
81101 [8110-1-1{ 8097-3| 61.00] 60.25| 0.60 60.40 - 0.85] 0.85] 0.85] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 ] 60.40 9.34 20.49 H
S S
i 8097-3]8097-2| 56.00] 56.00 56.00 - 0.85] 0.85] 0.85] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 {ﬁ 56.00 8.69 19.04 b
i 8097-218097-1| 26.80| 26.80 26.80 - 0.85] 0.85] 0.85] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 ;E; 26.80 4.16 9.11 ;E;
i 8097-1]8094-2| 48.00| 48.00 48.00 - 0.85] 0.85] 0.85] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 &,g 48.00 7.44 16.32 &,g
i 8094-218094-1] 47.00| 47.00 47.00 - 0.85] 0.85] 0.85] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 i 47.00 7.29 15.98 i
i 8094-1]8089-3| 44.00| 44.00 44.00 - 0.85] 0.85] 0.85] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 44.00 6.82 14.96
i 8089-3| IP.1 4.00 4.00 4.00 - 0.75] 0.55| 0.65] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 2.44 4.00 0.47 1.04 1.28
A A
i IP.2 18089-1] 51.20] 51.20 51.20 - 0.85] 0.85] 0.85] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 & 51.20 7.94 17.41 1S
i 8089-1] 8088-1 7.00 7.00 7.00 - 0.85] 0.85| 0.85] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 @ 7.00 1.09 2.38 @
i 8088-1[8086-2-1] 33.00| 33.00 33.00 - 0.85] 0.85] 0.85] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 F,' 33.00 5.12 11.22 F,'
i 8086-2-1|8086-1-2| 47.00 47.00 47.00 - 0.85] 0.85] 0.85] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 ;i 47.00 7.29 15.98 ;i
A A
i 8086-1-2|8086-1-1] 47.00 47.00 47.00 - 0.85] 0.85] 0.85] 0.99] 0.99] 0.99] iii&As| 0.05] 0.30 -+ 47.00 7.29 15.98 -+
i 8086-1-1] IP.3 3.50 3.50 3.50 - 0.75] 0.55| 0.65] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 2.14 3.50 0.41 0.91 1.13
i IP.3 1P.4 42.00| 42.00 42.00 - 0.75] 0.55] 0.65] 0.99] 0.99] 0.99( iii&As| 0.05[ 0.30[ 25.66 42.00 4.92 10.92 13.53
i 1P.4 IP.5 28.00] 28.00 28.00 - 0.75] 0.55] 0.65] 0.99] 0.99] 0.99( iii&As| 0.05[ 0.30f 17.11 28.00 3.28 7.28 9.02
i IP.5 1P.6 19.00] 19.00 19.00 - 0.75] 0.55] 0.65] 0.99] 0.99] 0.99( iii&As| 0.05[ 0.30[ 11.61 19.00 2.22 4.94 6.12
i 1P.6 1P.7 4.80 4.80 4.80 - 0.75] 0.55] 0.65] 0.99] 0.99] 0.99] iii&As| 0.05] 0.30 2.93 4.80 0.56 1.25 1.54
i 1P.7 1P.8 2.50 2.50 2.50 - 0.75] 0.55] 0.65] 0.99] 0.99] 0.99] ifii&As| 0.05] 0.30 1.53 2.50 0.29 0.65 0.81
i IP.8 |s110-2-1] 29.20] 28.75[ 0.45] 28.75 - 0.76] 0.55] 0.66] 0.99] 1.15] 1.07{ iii&As| 0.05[ 0.30f 19.35 28.75 3.42 9.11 9.23
INE 601.00 1.05]599.95 82.77 132.55] 467.40 88.04 194.97 42.66
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8110-1 | 8110-1-1 | 8097-3 61.00]  60.25 0.75 0.99]  60.25
” 8097-3 8097-2 56.00]  56.00 0.75 0.99]  56.00
” 8097-2 8097-1 26.80|  26.80 0.75 0.99]  26.80
” 8097-1 8094-2 48.00|  48.00 0.75 0.99]  48.00
” 8094-2 80941 47.00]  47.00 0.75 0.99]  47.00
” 80941 8089-3 44.00]  44.00 0.75 0.99]  44.00
” 8089-3 P.1 4.00 4.00 0.75 0.99 4.00
” P.2 80891 51.20]  51.20 0.75 0.99]  51.20
” 80891 80881 7.00 7.00 0.75 0.99 7.00
” 8088-1 | 8086-2-1 33.00]  33.00 0.75 0.99]  33.00
" 8086-2-1 | 8086-1-2 47.00]  47.00 0.75 0.99]  47.00
" 8086-1-2 | 8086-1-1 47.00]  47.00 0.75 0.99]  47.00
” 8086-1-1 P.3 3.50 3.50 0.75 0.99 3.50
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8092 31 8092-1] 4.618 3.0 3.9/ 4.761] 4.606 1.86 1.04| BAAI T 3.0 2.0 100] 10.0/ 0.030] 0.60 5.910 6.27, 0.50] 0.20 5.960 | W ¢ 50 6.73 6.73 16.0/  0.20] 100 20.0] 0.620¢ 6.110] 6.060] 5.910] 0.90 S B
8092 32 6.76/ 0.85] 150 | 8092-2| 4.535 3.0/ 10.0] 4.660| 4.505 2.10 0.67| AT 3.1 2.1 100] 10.0/ 0.031] 0.60] 6.050 6.41 0.50] 0.20] 6.100 6.96] 6.71 46.0/ 0.20, 100 20.0] 1.220: 5.490 5.440| 5.440[ 1.60 S B
8092 33 6.83) 0.85] 150 | 8092-2| 4.535 3.0/ 32.1| 4.593| 4.438 2.24 0.78 | P T 3.3 2.3 100] 10.0/ 0.033] 0.60] 6.120 6.48 6.170 6.91 6.65| 40.0/ 0.20/ 100 20.0 1.100 5.550| 5.500] 5.500] 1.50 S B
8094 34 6.78 0.85] 150 | 8094-1] 4.335 3.0/ 26.5] 4.410] 4.255 2.37] —0.08|HEMET I 3.9 2.9 150] 10.0/ 0.039] 0.60] 6.025 5.22 4.465 6.87] 6.82 42.0 0.20] 100 20.0] 1.140¢ 5.680 5.630| 4.465[ 2.50 S A
8094 |35-1 6.77, 0.85] 150 | 8094-1] 4.335 3.0/ 29.9] 4.400| 4.245 2.37 0.83 | P T 2.6 1.6 100] 10.0/ 0.026] 0.60] 6.060 Wo 5.463] 6.86, 6.67 50.0] 0.20] 100 20.0] 1.300¢ 5.370 5.320] 5.320] 1.60 S B
8094 |35-2 6.73] 0.85] 150 | 8094-2] 4.194 3.0 8.3] 4.324| 4.169 2.41 0.83 | P T 7% 2.7 1.7 100] 10.0/ 0.027] 0.60] 6.020 Wo 5.423] 6.78) 6.69 57.0] 0.20] 100 20.0] 1.440 1.60 S B
8094 36 6.72] 0.85] 150 | 8094-2] 4.194 3.0/ 13.9] 4.307| 4.152 2.41 1.00| BT T 2.7 1.7 100] 10.0] 0.027] 0.60] 6.010 Wo 5.413] 6.83 7.02/ 29.0] 0.20] 100 20.0] 0.880¢ 6.140] 6.090| 5.413] 1.50 S B
8094 37 6.72] 0.85] 150 | 8094-2] 4.194 3.0/ 12.8] 4.310| 4.155 2.41 0.02| ExE T3 4.4 3.4 150] 10.0/ 0.044] 0.60 5.965 516/ 1.80] 0.60] 4.405 6.57] 6.63 37.0 0.20] 100 20.0] 1.040¢ 5.590 5.540| 4.405[ 2.20 S A
8094 4l 6.70, 0.85] 150 | 8094-2] 4.194 3.0/ 33.0] 4.250| 4.095 2.45 1.04| BAAI T 2.6 1.6 100] 10.0/ 0.026] 0.60 5.990 Wo 5.393] 6.82] 6.97 39.0] 0.20] 100 20.0] 1.080¢ 5.890 5.840] 5.393] 1.50 S B
8097 91 8097-1] 4.030 3.0/ 24.0/ 4.113] 3.958 2.54 L3 BANI T 2.9 1.9 100] 10.0/ 0.029] 0.60 5.940 Wo 5.543] 6.65 7.01 34.0,  0.20/ 100 20.0] 0.980: 6.030 5.980| 5.543[ 1.20 S B
| 8097 | 92 8097-2| 3.949 3.0/ 47.4] 3.961| 3.806 2.60 116 | BANI T35 3.1 2.1 100] 10.0/ 0.031] 0.60 5.850 6.65, 6.66 55.0/ 0.20] 100 20.0] 1.400¢ 5.260 5.210] 5.210{ 1.50 S B
8097 93 8097-3| 3.761 3.0 5.6/ 3.899| 3.744 2.64 0.94 | PRI T 3.3 2.3 100] 10.0/ 0.033] 0.60 5.830 6.14 0.50] 0.20 5.830 6.57] 6.57 64.0 0.20] 100 20.0] 1.580: 4.990| 4.940| 4.940[ 1.70 S B
8097 94 6.57] 0.85] 150 | 8097-2] 3.949 3.0/ 43.4] 3.973] 3.818 2.60 1.22| AN T 4.4 3.4 100] 10.0/ 0.044] 0.60 5.860 5.72, 1.50] 0.10 5.510 6.64 6.73 54.0/ 0.20] 100 20.0] 1.380: 5.350] 5.300] 1.40 S B
| 8097 | 95 | THHEAs 6.54] 0.85| 150 |8097-3| 3.761 3.0 7.8] 3.892| 3.737 2.65 L14|BARI T 3.3 2.3 100] 10.0/ 0.033] 0.60 5.830 6.14) 0.50] 0.20 5.830 6.56| 6.33 45.0/ 0.20] 100 20.0] 1.200: 5.130 5.080] 5.080] 1.50 S B
| 8097 [ 96 HE | diiEAs 6.52] 0.85| 150 |8097-3| 3.761 3.0/ 19.6] 3.857| 3.702 2.66 L42|BANI T 2.4 1.4 100] 10.0/ 0.024] 0.60 5.810 6.70, 6.75, 55.0/ 0.20] 100 20.0] 1.400: 5.350 5.300] 1.40 S B
8097 97 HE | diiEAs 6.53] 0.85| 150 |8097-3| 3.761 3.0/ 10.7] 3.883 2.65 LIL|BARI T 5.3 4.3 100] 10.0/ 0.053] 0.60 5.820 5.67 1.50] 0.10 5.460| Wo 5423 6.75] 6.54] 55.0] 0.20] 100 20.0] 1.400% 5.140 5.090 5.090f 1.70 S B
| 8097 [ 98 HE | diiEAs 6.53] 0.85| 150 |8097-3| 3.761 3.0/ 45.4] 3.779 2.75 1.56 | AT T 2.5 1.5 100] 10.0/ 0.025] 0.60 5.820 696, 6.48 34.0/ 0.20] 100 .980% 5.500] 450] 1.60 S B
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8089 | 6 S | ek 7.07 5.071] 7.43]  0.30 22.00 20.0] 0.44] 7.06] 0.37 6.640] 6.360] 6.410] 6.360 0.80] 3.30] 10.0 | 0.033] 6.227 1.16 | =Dk
8089 | 13 S | ek 7.01 5.022] 7.62] 0.30 33.00 20.0] 0.66] 6.99] 0.33] 6.610] 6.300] 5.530] 5.530 1.50  5.00] 10.0  0.050] 5.440 0.42 | Zofh
8089 | 14 | e 7.06 5.061] 7.23  0.30 47.00 20.0] 0.94 7.59] 1.60 5940 6.350] 6.400] 5.940 170, 3.60] 10.0  0.036] 5.854 0.79 | ZDfh
8089 | 15 S| 8k 6.98 4.995| 7.10 0.30] 28.0/ 20.0, 0.56] 7.20] 0.96] 6.190 6.270  6.340  5.673 1.60  3.40] 10.0  0.034] 5.566 0.57 | ZDfh
8089 | 16 S | ek 6.95| 4.952] 6.88  0.30] 29.0, 20.0, 0.58] 6.91] 0.91] 5950 6.240  6.310  5.643 1.30  3.20] 10.0  0.032] 5.578 0.63 | =Dk
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8089 | 19 S | ek 6.87 4.640] 6.63 0.30, 54.0, 20.0] 1.08] 6.88] 1.63 5.200] 6.160 5.200 170, 2.90| 10.0  0.029] 5.151] 0.51 | Z0fh
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8097 | 96 X | EE 6.52 3.857 6.75 0.30 55.00 20.0 1.10 6.70 1.35 5.300 5.810 5.300 1.40 2.401 10.0 | 0.024 5.276 1.42 | ZOfh
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8089 6 0.85 0.55 3.30 2.30 0.50f iEAs | 0.05 0.30 0.91 0.64 1.38 0.76] 0.90/ 0.64 1.00] 0.58 1.34  2.88) 0.32 0.72 0.54
8089 13 0.85 0.55 5.00 4.00 1.30] TiEAs | 0.05] 0.30] 1.62] 0.71] 2.28] 2.54] 1.60 0.71 1.00] 1.14 3.68/ 4.58 0.50 3.45 -0.15
8089 14 0.85 0.55 3.60 2.60 0.50f TiEAs | 0.05. 0.30/ 1.27) 0.68 1.68 1.39] 1.80/ 0.73] 1.00] 1.31 2.70 3.18 0.35 2.04 0.43
8089 15 0.85 0.55 3.40 2.40 0.50f iiEAs| 0.05 0.30 1.48 0.70 1.48 1.48] 1.70 0.72] 1.00] 1.22 2.70, 2.98 0.33 2.19] 0.27
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S | (%) | B * L = @) | Lxi | T aken " JEHE | 1-men " E o ©-005 |wBCo|®—D| 7 gy’
8086-2 | 1 ek 6.092 3.0 0.0/ 6.247] 6.092 1.40 0.05| PHHI T3k 3.3 2.3] 100/ 10.0] 0.033] 0.60] 6.940 Wo 6.343] 7.73] 8.27| 45.0] 0.20] 100 20.0] 1.200¢ 7.070] 7.020] 6.343] 1.40 0.74] S [ AL
8086-3 | 2 ek 5.871 3.0 0.0/ 6.026 5.871 1.21[ 0. 11|PANI T 1.9 0.9/ 100/ 10.0/ 0.019] 0.60] 6.530 7.24] 7.31 64.0] 0.20] 100 15.0] 1.260; 6.050 6.000] 6.000] 1.30 0111 S [ AFL
8086-3 | 3 B 5.871 3.0 1.5 6.021] 5.866 1.22 0.06 | PHHI T3 2.6 1.6/ 100/ 10.0/ 0.026| 0.60] 6.530 731 7.27 38.0] 0.20] 100 20.0] 1.060: 6.210] 6.160] 6.160] 1.20 0.10] S A
8086-1| 4 B 5.951 3.8] 42.0 5.946 5.791 1.30] ~0.08|PHHI T 3.2 2.2] 100/ 10.0] 0.032] 0.60] 6.540 6.92] 0.50] 0.20] 6.610] Wo 5.943[ 7.30 7.12] 46.0, 0.20] 100 15.0] 0.990¢ 6.130] 6.080| 5.943] 1.40 0.23] S A
8087 5 ek 5.804 3.0/ 146/ 5915 5.760 1.18 0.36 | P T3k 2.1 1.1/ 100/ 10.0/ 0.021| 0.60] 6.380 7.10] 7.53] 42.0] 0.20] 100 20.0] 1.140f 6.390] 6.340] 6.340] 0.80 0.09] S
8087 7 B 5.804 3.0 13.4] 5.918] 5.763 117 -0.08|PHHI T 3.1 2.1 100/ 10.0/ 0.031 0.60] 6.380 6.29] 0.70] 0.30] 5.880 747 7.43] 23.0] 0.20] 100 20.0] 0.760; 6.670  6.620] 5.880] 1.60 0.80] S A
8087 8 e 6.005 3.0 0.0/ 6.160 DA T3 4.5 3.5] 100/ 10.0] 0.045 0.60] 6.840 6.39] 1.10] 0.10] 6.180 740 7.17] 41.0] 0.20] 100 15.0] 0.915¢ 6.255 1.30 0.15] S [ AFL
8085-2 | 10 gk 5.632 3.0 16.8] 5.736 DA T3 6.1 5.1 100/ 10.0] 0.061 0.60 6.50] 0.50] 0.20] 6.190/We75| 5.818] 7.35 7.37] 57.0, 0.20] 100 20.0] 1.440¢ 5.930 1.60 0.18] S A
8085-1| 11 ek 6.242] 27.4 0.0/ 6.397 DA T3 3.5 2.5] 100/ 10.0] 0.035 0.60] 6.490 7.34] 7.71 50.0] 0.20] 100 20.0] 1.300¢ 6.410 1.00 0.07] S [ AFL
8085-2 | 12 B 5.632 3.0/ 13.3] 5.747 DA T3 3.5 2.5/ 100/ 10.0] 0.035 0.60] 6.410 7.56] 7.46] 26.0] 0.20] 100 20.0] 0.820; 6.640 1.20 0.28] S B
8093 | 21 M| REfIE 6.96] 0.67 150 | 8093-1 5.804 3.0 0.0/ 5.959 DA T3 2.6 1.6/ 100/ 10.0/ 0.026| 0.60] 6.250 6.98] 7.46, 58.0/ 0.20] 100 20.0| 1.460: 6.000] 5.950] 5.950] 1.10 0.12] S [ AFL
8093 | 22 PEgkE| REREE 8093-5| 5.344 3.0 28.7] 5.412 DA T3 2.5 1.5/ 100/ 10.0] 0.025| 0.60] 5.790 6.50] 6.84 64.0/ 0.20] 100 15.0] 1.260: 5.580] 5.530| 5.530] 1.00 0.08] S A
8090 | 26 Hie#| diECo 6.83] 0.85 150 |8090-3] 5.451 3.0 8.8] 5.579 DA T3 2.0 1.0/ 100/ 10.0/ 0.020| 0.60] 6.120 7.02] 6.71 53.0/ 0.20] 100 15.0] 1.095¢ 5.615 5.565| 5.565] 1.50 0.10] S A
8090 | 27 M| REFIE 7.11] 0.67] 150 |8090-1 6.047 3.0 0.0/ 6.202 DA T3 2.2 1.2] 100/ 10.0] 0.022| 0.60] 6.400 7.41] 7.36] 35.00 0.20] 100 20.0/ 1.000; 6.360 6.310] 6.310] 1.10 0.05] S [ AFL
8090 | 28 Pigedi| iiECo 150 |8090-2 | 6.012 3.0 9.4] 6.138| 5.983 0.81 0.00| PHHI T3 2.2 1.2] 100/ 10.0] 0.022| 0.60] 6.240 7.06] 7.10] 22.0/ 0.20] 100 20.0] 0.740¢ 6.360 6.310] 6.240] 0.90 0.20] S A
8090 | 29 PEgkE| REREE 7.11] 0.67] 150 |8090-1 6.047 3.0 0.0/ 6.202] 6.047 0.91] 0. 11|PHAITHEE 1.3 0.3] 100/ 10.0/ 0.013] 0.60] 6.400 7T.01] 7.08] 39.0] 0.20] 100 15.0] 0.885: 6.195/ 6.145| 6.145] 1.00 0.09] S [ AFL
8091 30 M| HEAs 6.65| 0.85 150 | 8091-1  5.458 3.0 0.0/ 5.613] 5.458 1.04] -0.11|PANITHE 4.2 3.2] 100/ 10.0] 0.042] 0.60] 5.940 5.85| 1.00] 0.10] 5.640 6.65| 7.57 61.0/ 0.20] 100 20.0] 1.520¢ 6.050 6.000] 5.640] 1.10 0.50] S [ AFL
8094 | 38 M| HEAs 6.72] 0.85] 150 | 8096 5.198 3.0 3.6] 5.342] 5.187 1.38 0. 41| PAHI T3 2.3 1.3] 100/ 10.0] 0.023| 0.60] 6.010 6.87| 6.80 30.0] 0.20] 100 20.0/ 0.900; 5.900] 5.850] 5.850] 1.10 0.13] S B
8096 | 39 M| HEAs 6.72] 0.85 150 | 8096-1 5.198 3.0 0.0/ 5.353] 5.198 DA T3 2.8 1.8/ 100/ 10.0/ 0.028| 0.60] 6.010 6.73] 6.36 42.0/ 0.20] 100 15.0] 0.930¢ 5.430] 5.380| 5.380] 1.40 0.10] S [ AFL
8096 | 40 M| HEAs 6.70 3.0 11.0] 5.320] 5.165 DA T3 3.0 2.0/ 100/ 10.0/ 0.030] 0.60] 5.990 7.07] 6.33] 43.0] 0.20] 100 15.0] 0.945: 5.385] 5.335| 5.335] 1.80 0.11] S A
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8086-2 | 1 JERE S 7.65 6.247] 8.27  0.30] 45.0 20.0] 0.90 7.73 0.66] 7.020 _ 6.940 6.343 1.40.  3.30] 10.0 | 0.033 6.297| 0.05 =7Vl
8086-3 | 2 JERE S 724 6.026] 7.31 0.30] 64.0 15.0 0.96 7.24 1.19] 6.000  6.530 6.000 1.30  1.90] 10.0  0.019] 5.921 -0.11| Zofh
8086-3 | 3 X e 724 6.021] 7.27 0.30] 38.0 20.0 0.76 7.31 1.10] 6.160  6.530 6.160 1.200  2.60/ 10.0 | 0.026] 6.084] 0.06 | O
8086-1 4 T e 725 5.946] 7.12  0.30] 46.0 15.0 0.69 7.30 1.17| 6.080  6.540 6.610| 5.943 1.40.  3.20/ 10.0 | 0.032] 5.868 —0.08 | =i
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8090 | 26 X v 6.83] 5579]  6.71 0.0 53.0 150 0.80 7.02 1.4l 5.565 _ 6.120 5.565  1.50|  2.00 10.0 | 0.020| 5.500 —0.08 Z i
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8086-2 1 0.85 0.55 3.30 2.30 mEAs| 0.05] 0.30] 1.42] 0.69] 1.88] 1.78] 1.50/ 0.70/ 1.00/ 1.05 2.83 2.88 0.32 1.86/ 0.76
8086-3 2 0.85 0.55 1.90 0.90 AhhLE 1.40 0.69) 0.48 0.46] 1.40/ 0.69 1.00 0.97 1.43 1.48 0.16 1.10 0.21
8086-3 3 0.85 0.55 2.60 1.60 AhhLE 1.23  0.67 1.18 0.97] 1.30] 0.68 1.00 0.88 1.85 2.18) 0.24 1.39 0.31
8086-1 4 0.85 0.55 3.20 2.20 0.50] HiiEAs| 0.05] 0.30] 1.45] 0.70] 1.28/ 1.25] 1.50/ 0.70/ 1.00/ 1.05 2.300 2.78 0.30 1.86/ 0.23
8087 5 0.85 0.55 2.10 1.10 miEAs| 0.05] 0.30] 0.89] 0.64 0.68 0.37] 0.90] 0.64] 1.00] 0.58 0.95 1.68 0.18 0.49 0.41
8087 7 0.85 0.55 3.10 2.10 0.70] HiiEAs| 0.05] 0.30] 1.32] 0.68] 0.98] 0.85] 1.70/ 0.72] 1.00] 1.22 2.07 2.68 0.29 1.79 0.08
8087 8 0.85 0.55 4.50 3.50 1.10] HiEAs | 0.05] 0.30/ 1.55] 0.71) 1.98] 2.11] 1.40/ 0.69] 1.00] 0.97 3.08] 298] 0.33] 2.05] 0.80|F5i#Co
8085-2 = 10 0.85 0.55 6.10 5.10 0.50] HiiEAs| 0.05] 0.30] 1.45] 0.70] 4.18] 4.10] 1.70/ 0.72] 1.00] 1.22 5.32 5.68 0.62 3.71 1.20
8085-1 @ 11 0.85 0.55 3.50 2.50 AhhLE 0.96 0.65 2.08 1.30} 1.10/ 0.66 1.00 0.73 2.03, 3.08 0.34 1.38 0.50
8085-2 @ 12 0.85 0.55 3.50 2.50 miEAs| 0.05] 0.30] 0.86/ 0.64 2.08 1.08] 1.30] 0.68] 1.00/ 0.88 1.96 3.08/ 0.34 0.99 0.86
8093 21 0.67 0.55 2.60 1.60 AhhZE 1.18 0.67) 1.27 1.00} 1.20] 0.67 1.00 0.80 1.80 2.27 0.25 1.32. 0.33
8093 22 0.85 0.55 2.50 1.50 AhZE 1.10 0.66/ 1.08 0.78] 1.10/ 0.66 1.00 0.73 1.51 2.08/ 0.23 1.07 0.32
ki 27.13 32.85 3.60 19.01 6.01
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8090 26 0.85 0.55 2.00 1.00 MiiECol 0.100 0.20] 1.41 0.69 0.58/ 0.52] 1.60| 0.71 1.00 1.14 1.66/ 1.58 0.17 1.26] 0.26
8090 27 0.67 0.55 2.20 1.20 BNl 0.90] 0.64 0.87| 0.50] 1.200 0.67 1.00/ 0.80 1.30] 1.87, 0.20/ 0.91] 0.29
8090 28 0.66 0.55 2.20 1.20 MiiECol 0.100 0.20] 0.89 0.64 0.87| 0.44] 1.00] 0.65 1.00 0.65 1.09] 1.87 0.21 0.65 0.37
8090 29 0.67 0.55 1.30 0.30 BNl 1.10] 0.66, -0.04| -0.03] 1.100 0.66/ 1.00/ 0.73 0.70] 0.97 0.11] 0.50/ 0.14
8091 30 0.85 0.55 4.20 3.20 1.00] #iEAs| 0.05/ 0.30] 1.200 0.67 1.78/ 1.37] 1.20, 0.67, 1.00 0.80 2170 2.78) 0.300 1.28 0.75|Bh#Co
8094 38 0.85 0.55 2.30 1.30 iiEAs| 0.05/ 0.30] 1.05/ 0.66 0.88 0.58] 1.20/ 0.67/ 1.00 0.80 1.38] 1.88 0.21 0.84| 0.45
8096 39 0.85 0.55 2.80 1.80 iiEAs | 0.05 0.30] 1.49] 0.70, 1.38 1.39] 1.50, 0.70/ 1.00 1.05 244, 2.38) 0.26/ 1.67 0.58
8096 40 0.85 0.55 3.00 2.00 iiEAs | 0.05 0.30] 1.53] 0.70, 1.58 1.64] 1.90/ 0.74) 1.00 1.41 3.05] 2.58] 0.28 2.18 0.63
& i 13.79 15.91| 1.74] 9.29 3.47
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